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Marking Scheme

OCTOBER 2018/ IN-SEM (T2)

S. Y. B. TECH. (CIVIL ENGINEERING) (SEMESTER - I)
Engineering Mathematics III[(CVUA21171)

(PATTERN 2017)

a) Correct moments 3 marks + Correct coefficients of skewnees and
kurtosis 2 marks + correct mean and variance 1 mark
b) Correct Table 2 marks + Correct regression lines 3 marks + correct

Estimate of y 1 mark
c) Correct probability 3 marks + correct expected number 1 mark.

a) Correct table 1 mark + general moments and correct central moments 3
marks + Correct coefficients of skewnees and kurtosis 2 marks
b) Correct means 2 marks + correct correlation coefficient 2 marks +

correct S.D. 2 marks.
c) Correct probability formula 2 marks+ correct Probability 2 marks

Q3.

a) Irrotational 3 marks + correct scalar field 3 marks
b) Correct V@ 2 marks + correct D.D. 2 marks
c) Correct vector identity 1 mark + correct Proof with steps 3 marks

Q4.

a) Irrotational 3 marks + correct f( r) 3 marks
b) Correct vector identity 1 mark + correct Proof with steps 3 marks
c) Correct V@ 2 marks + correct D.D. 2 marks
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